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Class XI Examination, 2020
ACCOUNTANCY
( Compulsory )
PAPER - 11

Time : 1 Hour Full Marks : 40
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. GENERAL INSTRUCTIONS / ¥ 3w :

ode, Roll No., Registration No., Faculty and Paper

1. Write your Name, Roll C
ed. Put your Full Signature

on the OMR Answer Sheet in the spéce provid

.on the OMR Answer Sheet in the space provided.

ST 39T AW, e S, W.Wm,ﬁmmﬁomnmmﬁ%
g s W ford IWWWWWOMRWWﬁﬁn&WWﬁ \
There arc 40 Mul}iple Choice Questions in all.
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All questions are compulsory. Each ciucstion carries 1 mark.
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Four options are given for each question numbered 1 to 4. Chogg, i
¢

corrcct option and indicate it by blackening the appropriate circle | , ¥
: n

the OMR Answer Sheet given separately. Use only Blue/Black Ba“‘POinl
Pen. The use of Pencil is not allowed.
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Before leaving the ekamination hall hand over the OMR Answer Sheet t

the invigilator. You are allowed to take the question paper with you.
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Adhere to the instructions above very carefully otherwise your

OMR Answer Sheet will be invalid and it will not be evaluated.
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which of the following may be called the language of the business ?

(1) Economics (2)  Statistics
(3) Accounting./ (4)  English.
frAfefaa § @ Y SOR @t e S S FHAa e ?
(1) T 2) wifes
(3) w@Ew (4) 3R
2. Who is not a user of accounting information ?
(1) Investors (2) Lenders
(3) [Owners (4) Minors.
g YaNaT &1 Juameal $A T ¢ 2
(1) Fraws (2)  FORTEN
(3) @i (4) ST |
3. A thing of valuc owned by a business entity is called
(1) Assch (2) Liability
(3) Incomc (4)  Profit.
e S G G R ] WS @ )
(1) wfa (2 S
(3) ™ (4) ™I

According to the principle of conservatism the Closing stock is value

(1)  Cost price

(2) Market price

(3) | Cost or Market price whichever is lcss{

(4)  Nonc of these.
F%mﬁmﬁmm%ma%ﬂﬁmmqmﬁmw%
(1) @ e T (2) FER I W
3 THATRAENFAE (@) T |/ #IS TE
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3. Basis of Accounting is
. Accrual of accounting basig

(1)  Cash basis 2)
(3) Both (1) and (2) (4) None of these.
AGIFS P AR ¢
(1) g i () @R H JUTT AR
(3), (1) 3R (2) A @) o @ T T

6. Source documents of accounts are based on

(1)  Vouchers (2) Journal
(3), Transaction ‘ (4) None of these.

Srai & e werg T @ ¥
(1) AR (2) DTl W
@) TR @) @A FE

7. Bank Overdraft Account is a

(1)  Personal Account (2), Real account
(3)  Nominal account (4)  Representative Personal Afc.
¥ afufaed @ |
(1) =T G (2) e @
(3) FHHE @I (4) wafty safera @
8.  Fathcr of 'Double Entry system,’ Lucas Pacioli was thc resident of
(1), France (2) Italy
(3) Britain 4) USA.
TN T WUt & S ogehd dfaielt Frardt o
(1) wEFH | @ whE
@ s (4) JTuuU %)
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10.

11.

12.

~ The imprest system pertains to

Commerce

Goodwill Account is

(1) Personal A/c (2) RealA/c

(3), Nominal A/c (4)  None of these.
@nia @ 8

(1) <&t @ (o) awdfad @
(3) AHEE G @) T QS T

is not recorded in Journal.

!1) Trade Discount
(2) Cash discount
(3) Both (1) and (2)
(4) None of these.

Jorams 3 ovar 7 far s
(1) =i a9 (2) TR TG
@) (1) 3R (2 @) T R FE A

" A bricfl cxplanation of the transactions is called

(1) Summarising (2) Particular

(3) ~ Narration (4) Information.

St Y dhie e F FEd €
(1) St 2 faamm
(3) W - @4) g

(1) Purchase book (2) .Sales book
(3) Cash book (4)  Petty cash book.

Jorrtt woTelt T GEH &
(1) #aT@ 2) Foras@s
) dwe 7@ ? @) G UHS
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13.

14,

15.

16.

Posting is done in

(1)  Journal (2) Ledger

(3) Both (1) and (2) (4) none of these.
@art @t S &

(1) A5 o | (2) wraEd 3§

@ () (2 @) ]
The word ‘Account’ is not used with Personal Accounts in
(1) Journal (2) Ledger

(3) Cash Book (4) Trial Balance.
T @Il & WY I W 1 96T T8 dar

(1) s o (2) WIAEE |

3) =g =@ A (4) e #)

To which account wc:;uld bé entered goods given in charity ?
(1) Sales Account | (2 Purchases Account
(3) Cash Acc;:)unt (4) No account.

g & foru fear mar oo few @R & arante amAm 2

1y feaaEm (2) 4G

@ desEm (4) R @ar @)
The Debit Balance of nominal account is a

(1) liability - (2) loss or expenses
(3¢ income . ' (4) none of these.
Ty @ 1 e A g

(1) <fas @ whamem

3) W 4) F ] PN
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17.

18.

19.

20.

<>

Full form of J.F. is

(ll Journal Folio (2)
(3) Journal File (4)
J.F. #1 ot ¥9 ¢

(1) Journal Folio (2)
(3) Journal File (4}

Bank Reconciliation Statement is prepared

XC-ACT-{Comp.]-C

Commerce

Joint File

None of these.

Joint File

QA % =

7 of 12

(1) by Businessman () by Banker
{3} by Auditor (4) None of them.
ﬂwiannmwﬁﬁunraunfﬁaraﬁnt

(1) —FEErE g . (2) S

(3) ST GRT (4) T ¥ FE

D&bit Balance as per Cash Book means

(1)  Overdraft | (2)  Favourable Balance

(3) Both (1) and (2) (4)  None of these.

g WA & e A 7 o

(1) Sl (2) oIS W

(3 (1) R (2) A (4) T A IR

Balance of iveeseeneassenes account is shown at the debit side of Tnal
Balancc.

(1) Creditors (2) Capital

(3) Cash. . (4) Bank Overdrait.

............ Enﬁzsrihraamzik:ﬁhzlmﬁiiﬁuannﬁﬂartl

(1) @R @ T

(3) UFS @ ¥ afufrd |
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91. The Trial Balance is prepared on
(2) December 31

(1) January l
@) Junc30 . (4) aparticular date.
deree R feman e @ |
(1) SR 1 2 Fa=r 31 &
@ 30 W (@) o ffr 1
22. Rcpair of Machinery Rs. 500 will be debited to
(1 Machinery A/c (2) WagesA/c
(3) RepairA/c : (4) None of these.
TR @) A % 500 Fo e FFA ST
(1) we @ & (2 g Em
(3) RWd @R A @) T Q@SR
23. When the total of Trial Balance is not reconciled, the account opened at
this timce is ) )
(1) Trading A/c | (2) Suspense A/c
(3) - Profit and Loss A/c - ~ (4) None of these.
T AT 1 At gt e €, g f F -t @ @hen o ¥ 2
(1) =R a @)  FTE a
(3) g G @ T I

24. Goods sold to Raju worth Rs. 650 was entered in his account Rs. 500.

Now Raju's account will be debited by

(1) Rs. 1,150 (2) Rs.150

(3) Rs. 650 | (4) Rs. 500.

T # I T 650 To F AW F I @A F 500 o for@ Ky M) aw A A
e 3z fr

(1) 1,150 (2) 150 o

| (3) 650 %0 (4) 500 o
6022-(11) ‘

8 of 12



L JAC] XC-ACT-{Comp.)-C
Commerce

25. Thc useful life of land is

(1)  constant (2)  limited
3) unlimited (4) none of thesc.
i &1 IuEhT Steeer od &
(1) fer (2) Hifta
(3) i (4) v Q w
26. Obsolescence means decline in the value due to
(lv fall in the market price (2) physical wear and tear
(3) end of time (4) innovation and inventions.
e &1 Y g ¥ FH w &
(1) F9R g ¥ &l 8 . (2) olfow w98 E-ge €

27. A machinery is depreciated by Rs. 2,000 every year. Which method is

being uscd to calculate depreciation ?
(1)  Written down value method (/2) Straight line method

(3) Both (1) and (2) (4)  None of these.

U TR 5 a9 2,000 To 3 wifed fopar o & At g 1 o &g e fafy
&1 s fehar s & 2 -

(1) 74 & fafy
@ (1R

What is created for known liabilities ?
(2) Provision

(2) o a faly
(4) T I FR A

28.

(1) Rescrve
(3)  Specific Rescrve (4) None of these.

gt et ¥ forg g far S & 2
(1) ¥4 (2) HENH
(3) fafme 4= (4) ™ | g Tl

9 of 12

16022-(11)




XC-ACT-{Comp.)-C _
Commerce : @

29. Capital Reserve is created from

(1)  Profits (2) Capital profits

(3) Capital (4) None of these.

YeirTe o Frmtor fear e 2 |

(1) ®wH (2) Gl e @

@) T . 4 T A T
30. How many days are allowed as days of grace for payment of a bill

(y 2 _ . 2) 3

3 4 | 4) O

foet & sy & forg e ey Rramaedt e & ww i R o € 2

1y 2 2 3

3) 4 | 4 o

31. When a bill discounted is dishonoured, the drawer gives credit to

(. Bills Receivable A/c (2) - Bank A/c

(3) Discount A/c (4) None of these.

s T fren s @ 3, it v A &

(1) W faer @ & Q) YR w

@) e EEw 4) T I S T
32. In casc of sudden holiday, maturity date falls on

(1) ncxt following day (2)  previous day

(3) ° on the same daj - (4) none of these.

IR ggt & e uiaaerr fafr g @ »

(1) e e @ Ewe

B wEfE @ wEI R

6022-(11) N o
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33.

34.

35.

36.
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Outstanding wagcs is shown in Trial Balance. It is shown in

(1} Trading A/c (2)  Profit & Loss A/c

(3)  Balance Sheet (4) Trading A/c & Balance Sheet.
qeT9e W 3T worgdt @l e man ¥ R e ¥

(1) =l g o (2) -l @A
(3) 3t fagr o @) mﬁ?maﬁtmh@ﬁ‘

Amount spent on increasing the seating capacity in a cinema hall is
(1) Capital expenditure | (2) Revenue expenditure

(3)  Deferred revenue expenditure (4)  None of these.

T T8 &7t & 437 ) e & ofg ¥ forg ) 0 o ) of ¥

(1) e = (2) AT G

(3) a smand = (4) T AW D

Excess of assets over liabilities is called |

(1) | Capital (2) Creditors

(3)  Profit 4)  Goodwill.

wfaal &1 Sl Wi wEer §

(1) @ WRR |

(3) @™ 4 @@ :

RAM stands for

.(1) Random Access Memofy (2) Read Access-Memory

(3) Read Arithmetic Memory (4) Random Arithmetic Memory.
RAM &I J0f &9 & |

(1) Random Access Memory (2) | Read Access Memory

(3) . Read Arithmetic Memory (4)  Random Arithmetic Memory.

6022-(11) ' ' 11 of 1.
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37. How many bits makc one byte ?

m o (2
(3 8 (4)
fera foe | e aRe w1 ot e @ 2

() 6 )
9 8 4)

38. Tallyis

(1)  Accounting Software (2)
(3)  Payroll Accounting (4)
ool ® |

(1) TEis HeeaR 2)
(3) O @i (4)

39. The full form of AIS is

(1)
2
(3)
(4)

Accounting Information System
Audit Information System
Administration Indian System

None of these.

AIS &1 Q0T &9 2

(1)
(2)
(3)

Accounting Information System
Audit Information System

Administration Indian System

4) T | &5

40. Hard Copy Printer is
(1)  Output Device (2)
(3) Powerful Computer (4)
&S it fivex @ |
(1) HIITYE ITH] (2)
(3)  Afanelt e @)

1 6022-(11)

10.

2
10.

A collection of Data

None of these.

BT 1 9U%
T q K @

Input Device

Accumulating Device.

FIYE IYEHOT
Gag ITHT|
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